
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

S1607 

M8 x 30 DIN912 

+ 807ZNC 

DUCATI  
Panigale V2  
2018–2024 

„PURE concept“ 
Part Nr. 502 

 

EXTR.cod.820 + 

M6 x 20 DIN7991 

810HC + 
123-810R 

813R 
813L 

S1708 

818039 

806 

806 

M8 x 25  
DIN7991 

M6 x 12  
DIN7991 

M8 x 25  
DIN7991 

M6 x 45 DIN7991 

+ 123121206 
+ M6 DIN125 
+ M6 DIN985 

M6 x 12  
DIN7991 

M8 x 30 DIN912 

+ 807ZNC 

M6 x 16 DIN7380 

+ 8176                                                                                                                                                                          

M6 x 35 DIN7984 

+ 123121806 

M8 x 35 

DIN912 

M8 x 30 
DIN7991 

M8 x 30 
DIN7991 

M8 x 40 

DIN912 

M6 x 35 DIN7984 

+ 123121806 

M8 x 30 DIN6921                                                                                                                                                                       

818067 

M6 x 16 DIN7380 
+ 816L 

 
 

M8 x 30 DIN6921                                                                                                                                                                       

819M6R 

M6 x 25 DIN7984 
+ 123120306 

+ 2x M6 DIN125 

M8 x 70 DIN912 

+ 123202908 


